88 Updating technique for beam

In the BEM course, we have four equations

u(9) = [ U(x s)utx) + Q(x, uthx)- M (x, sjux)+V (x, syu(x)]| .2,

x=0

ugs) = [ U, (x sjusx) + Q, (x,s)ux)- M, (x su€x)+V, (x,s)u(x)||'_.

x=0

us) = [- U, (x sJu®x)+ Q,(x, Ju€x)- M, (x,9)udx)+V, (x,9u(x)||";

x=0

ud(s) = - U, (x, s)utx) + Q, (x, s)ux)- M, (x,9uéx) +V, (x,s)u(x)][">.

x=0

By using any two, we have
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Casel u isspecified u=u, pisunknown (Dirichlet problem)

— f'[A[B]=0 = f

y®=p ad u=u—y a > Null field solution

Case2 uisunknown, p = <O,0,O,O>T (Free-free problem)
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y “=u and p=(0000)=> a —>Rigid body mode
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y i =y ; (rigid body mode)
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